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POLITICAL SCIENCE
Paper : POL0300104
( Perspectives on Publjc Administration )

Full Marks : 60
Time : 2% hours

The figures in the margin indicate Sfull marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed - 1x8=8

oS TR PoteE® Tay fi

(@) Who of the following has been wrongly
listed as an advocate of the managerial
view regarding the nature of public
administration?

CIP-PTPFR opfS  od  ARoErER
iﬁsﬁamﬁmwmww
Iferige T4 (208 2

(i) Simon
REC]
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(b)
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(2)

(i) Smithburg and Thompson
Fazarsl e =

(i) L. D. White
= 5. @RS

(iv) Luther Gulick
FAR Bf

( Choose the correct option )

( o= R TR Sferean )

Who of the following is regarded as the
father of Public Administration?

o QR E-2MPeR g RBowret o
FAA?
(i) Dimock
(K25
i) L. D. White
. f6.
(i) Willoughby
T
(iv) Woodrow Wilson
Tea1 TR

( Choose the correct option )

( == Rewch AfR Sfersar )

{ Continued )

(c

@

(e)
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(3)

The term ‘scientific management’ for the
first time used by Max Weber / F. W.
Taylor / Vincent de Gournay / Louis
Brandeis.

‘@EfE SROEA’ *Rhl YRR AR T
@R [ aF. SR, GFR / 7wt f ek /
725 Q@f%ee 7T IR |

'( Choose the correct option )

( = Resco iR Sferear )

The word ‘promotion’ is derived from the
Latin word ‘promovere’.

‘Promotion (°RTERY)’ *Rwbl ‘promovere
(CATCATSR)’ AR @B >/ == SfReR |

( Write Yes or No )

(= @ 7 o)

“Women have been hidden from
history.” This was said by Simone
de Beauvoir / Sheila Rowbotham /
Mary Wollstonecraft.

‘YR [ET W IR TR R
et B B o ResRm /oo
@R | (R SRS |

( Choose the correct option )

(% Resch 9 Tfersar )
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(4)

What is meant by ‘3E’ in public
management?

CIF-JIEe ‘3E°9 & &1 ?

There is provision for organization of

Public Service Commission in the Article

315 / 316 / 321 / 322 of the Indian

Constitution.

TROW TRYFT 03¢ [ 036 [ 0> [ O W

SRS (EARPCIRT SAICHeT 9199 R4 41 (R |
( Choose the correct option )

( w= R MR Terea )

Which one of the following is not an
aspect of overlapping feature of Riggs’
Prismatic Sala model?

TR @Rl R fasfie oo WeeR
Sfk@erel (IMBR b1 i 1= 2

(i) Nepotism / F&F (SFT NS

(i) Poly-communalism / Jg-STReMIRAFe!
(iii) Formalism / S Fgel

(iv) Poly-normativism / IZHH-RAZel

( Choose the correct option )

(= Reseor AR Bférear )

{ Continued )

(5)

2. Answer the following questions (any siq :

2x6=12

g AR el fuan (R e =161)

(@)

()

(c)

(d

(e)

A25/248

Write two principles of human relation
theory.

TARS o oG 701 NS forsn |

What is meant by ‘politics-adminis-
tration dichotomy’?

| qENS WF LHrEE fR-Rema’s 5wy 2

Mention two obstacles of good
governance.

-2PITE 0T 14T STy 90 |

Mention two problems of personnel
administration.

R 2T 01 ST w40

Write two merits of seniority principle.

cETdel ST 7o1 B9 &7 |

Write two differences between new
public management and new public
service approach.

a4 (TR AF Tpd  CEIP-CHl
w2 qo1 #19%7 fora |
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(6)

(g) Write two human aspects of scientific
management.

I JARIOFR o1 T st o o

(h) What is new public administration?
T EF-2PIE [ 2

() Write two similarities  between
public administration and private
administration.

FRFIR AP SE (@I AP &S 4
BT AP o |

(i) Mention two aspects of Max Weber’s
bureaucratic theory.

G @@ SEeRe 9ed o 1 S

41
3. Write short notes on the following (any four) :
: 5x4=20
oo RATCARA @9 5y GOt forar (R cen s1fY)
(a) Neutrality in public service
-GS ACerrel
(b) Evaluation of scientific management
theory
I~ ST JeuE
A25/248 { Continued )

(c)

@

(e)

(9)

)
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(7)

Feminism in public administration

ETF-2HPHS MM

Importance of public administration in
modern State

YT NS IF-PIFFHE SFY

Disadvantages of indirect method of
recruitment

Differences between integral and
managerial views of public
administration

EF-2PEE Sion (RS wiF AReEmIEe
YBSIAN Mo NLFPR

Features of good governance

-2pei GRREPTR

Henri Fayol’s classical theory
R (TR SASA ©F
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(8)

4. Answer the following questions (any fwo) :
10x2=20

mem(ﬁmiﬁ):

(a) What is public administration? Discuss

its growth and evolution as a discipline.
2+8=10

- 7 SeER R R [R
Teoifs WF RIPT SCeD= F40 |

(b) Critically evaluate the human relation
theory.

TARF TF TGN FACABAIS T 91 |

(¢) What is training? What are its kinds?
Discuss any one of it. 2+24+6=10

e 7 W g B R TR R
GG R R e 441 |

(d) What is new public management?
Discuss its salient features. 2+8=10

Toq  CIR-IAEe 7 W SEReen
(AMBPTIR SCAOAT 41 |

(e) Evaluate the ecological approach of Fred
Riggs.
&S Rt =IfReisre RSN o 41 |
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